

Thank you for your business.

Customer Mangum Regional Medical Center	Quote date 11-08-2022	Sales agent Nathan Kramer nathan.kramer@nextiva.com 602-900-0672 ext. 3303	Nextiva, Inc. 9451 East Via de Ventura Scottsdale, AZ 85256	Billing frequency Monthly
Quote number	Quote expires	Quote status	Contract term:	
CPQ-169503	12-02-2022	Final	12 Months	

Quote summary

Recurring	Non recurring	Shipping charges	Taxes & fees	Total
\$3,314.40	\$0.00	\$0.00	\$568.10	\$2,225.30

Quote details | Service address: 118 S Louis Tittle AVE,,Mangum,OK,73554,US

Item description	Charge type	List price	Discount	Quantity	Total price
Services					
NextOS Meet Me 1-9 U	Recurring	\$19.95	\$0.00	1	\$19.95
NextOS Line Discount \$1	Recurring	-\$1.00	\$0.00	1275	-\$1,275.00
NextOS Meet Me 1-9 U Credit	Recurring	-\$19.95	\$0.00	1	-\$19.95
Basic Call Recording	Recurring	\$4.95	\$0.00	46	\$227.70
Basic Call Recording Credit	Recurring	-\$4.95	\$0.00	46	-\$227.70
DaaS Polycom VVX 201 \$2.5	Recurring	\$0.00	-\$2.50	78	\$195.00
DaaS Nextiva X-650 Dect Base Station	Recurring	\$0.00	-\$3.50	1	\$3.50
DaaS Nextiva X-651 Handset	Recurring	\$0.00	-\$2.75	1	\$2.75
Contract Additional Line No Number	Recurring	\$0.00	-\$34.95	49	\$1,712.55
NextOS Basic Extension \$9.95	Recurring	\$0.00	-\$9.95	31	\$308.45
NextOS Enterprise Upgrade \$10	Recurring	\$0.00	-\$10.00	51	\$510.00
Contract Professional Package HC 24 Mos \$34.95	Recurring	\$0.00	-\$34.95	1	\$34.95
Hardware					
Polycom VVX 201 Rental w/ 7 year	Recurring	\$0.00	-\$2.50	8	\$20.00
*These are estimated taxes and fees.Actual taxes a the invoices are processed.	and fees will be calculated when	Subtotal			\$1,512.20
		Federal FCC I	Regulatory Fee (VoIP)	\$1.45

Federal FUSF (VoIP)

\$92.44



Thank you for your business.

Customer Mangum Regional Medical Center	Quote date 11-08-2022	Sales agent Nathan Kramer nathan.kramer@nextiva.com 602-900-0672 ext. 3303		Nextiva, Inc. 9451 East Via de Ventura Scottsdale, AZ 85256	Billing frequen Monthly
Quote number	Quote expires	Quote status		Contract term:	
CPQ-169503	12-02-2022	Final		12 Months	
			State Univ Local Okla County O E911 Fee	ahoma Sales Tax versal Service Fund (VoIP Line) ahoma Sales Tax klahoma Sales Tax	\$0.00 \$0.00 \$92.34 \$0.00 \$0.00 \$92.02 \$289.85 \$2,080.30

Quote details | Service address: 1 Wickersham ST,,Mangum,OK,73554,US

Item description	Charge type	List price	Discount	Quantity	Total price
Hardware					
Polycom VVX 201 Rental w/ 7 year	Recurring	\$0.00	-\$2.50	58	\$145.00
*These are estimated taxes and fees.Actual taxes and fees will be calculated when the invoices are processed.		Subtotal			\$145.00
		State Oklahon	na Sales Tax		\$0.00
		Local Oklahor	na Sales Tax		\$0.00
		County Oklah	oma Sales Tax		\$0.00
		Total			\$145.00

Amount due today with taxes & fees	\$0.00
Amount due monthly (excl. taxes & fees)	\$1,657.20



Thank you for your business.

Customer Mangum Regional Medical Center	Quote date 11-08-2022	Sales agent Nathan Kramer nathan.kramer@nextiva.com 602-900-0672 ext. 3303	Nextiva, Inc. 9451 East Via de Ventura Scottsdale, AZ 85256	Billing frequency Monthly
Quote number	Quote expires	Quote status	Contract term:	
CPQ-169503	12-02-2022	Final	12 Months	

The pricing set forth in this quote, including the amount of taxes and fees, is estimated. Final pricing will be determined upon order submission and may vary from the pricing contained herein.

Location summary

Location	Monthly recurring	Non recurring
118 S Louis Tittle AVE,,Mangum,OK,73554,US	\$1,512.20	\$0.00
1 Wickersham ST,,Mangum,OK,73554,US	\$145.00	\$0.00



Amendment to Nextiva Service Agreement

This Amendment to the Nextiva Service Agreement (the "*Amendment*") is dated, entered into, and made effective on the date of the last signature below (the "*Effective Date*"), by and between Nextiva, Inc. ("*Nextiva*") and Mangum Regional Medical Center ("*Customer*").

Recitals

- Nextiva and Customer entered into a Nextiva Service Agreement on January 29, 2019 ("*Original Agreement*").
- The Original Agreement's term length is twenty-five (24) months beginning from January 29, 2019 (the "*Original Term*").
- The Original Term auto-renewed pursuant to Section 8.2 of the Nextiva Terms and Conditions for another twenty-four (24) months on January 29, 2021 (the "Current Term").
- Nextiva and Customer desire to, and hereby do, enter into this Amendment to decrease Customer's renewal Term from twenty-four (24) months to twelve (12) months.

Now, therefore, the parties hereto agree as follows:

- 1. The new auto-renewal term of the Agreement shall be twelve (12) months (the "*Term*") beginning from January 29, 2023.
- 2. This Amendment shall apply to Nextiva Corporate Account number 3406974 (the *"Account"*) and all Services utilized by the Account.
- 3. Except as set forth in this Amendment, the Original Agreement is unaffected and shall continue in full force and effect in accordance with its terms. If there is a conflict between this Amendment and the Original Agreement, the terms of this Amendment will prevail.
- 4. This Amendment becomes part of the Original Agreement as of its execution, and all references to the "Agreement" will include this Amendment unless otherwise specified.

The undersigned represent that he or she is duly authorized to execute this Amendment on behalf of the party he or she represents.

Signature Page Follows



Company Name: Mangum Regional Medical Center
Authorized Signature:
Printed Name:
Title:
Date:
Nextiva, Inc. ("Nextiva")
Authorized Signature:
Printed Name:
Title:
Date: